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compound: Prexasertib WEE1lsingleeffect
cell line: MCF7
Time point 72.0 h
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Std Dev Img
Predicted value = 0.06 Bl score = 0.24
Bl Prexasertib WEE1lsingleeffect 2.1 55.69 nM_nM
Prexasertib 2.1 nM
WEE1lsingleeffect 55.69 nM
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Predicted value = 0.32 Bl score = 0.30
B Prexasertib WEE1lsingleeffect 10.7 55.69 nM_nM
Prexasertib 10.7 nM
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--- Predicted value = 0.44 Bl score = 0.23
Bl Prexasertib WEE1lsingleeffect 16.0 55.69 nM_nM
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Std Dev Img
Predicted value = 0.03 Bl score = 0.18
Bl Prexasertib WEE1lsingleeffect 3.2 55.69 nM_nM
Prexasertib 3.2 nM
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Predicted value = 0.08 Bl score = 0.37
B Prexasertib WEE1lsingleeffect 4.7 55.69 nM_nM
Prexasertib 4.7 nM
WEE1lsingleeffect 55.69 nM
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% confluency

compound: BAY1895344
cell line: MCF7

Time: 72 h
| * * *
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® IC_15=74.25nM
EC_50 = 86.14 nM
201 @ IC_50 Value outside the tested range!
Emax = 70.37 % confluency
= LL4=> fit_curve, R? = 0.9385 X2 = 73.4 Sum of squares = 64.86
® experiment_data
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concentration range logio from: [0.16 ; 166.79] nM




% confluency

compound: MK-1775
cell line: MCF7
Time: 72 h
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IC_15 = 458.00 nM

EC_50 = 1049.47 nM

IC_50 = 1276.21 nM

Emax = 17.80 % confluency

LL4=> fit_curve, R? = 0.9983 X2 = 1.4 Sum of squares = 17.06
experiment_data

102 103
concentration range log,g from: [45.7 ; 33333.3] nM
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% confluency

compound: Prexasertib
cell line: MCF7
Time: 72 h
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® IC15=6.13nM
EC 50 = 8.46 nM
@ IC_50 Value outside the tested range!
Emax = 56.53 % confluency
—— LL4=> fit_curve, R? = 0.9678 X2 = 6.7 Sum of squares = 54.55

® experiment_data

100 101
concentration range log,g from: [1.4 ; 16.0] nM




